
fi dkeq

If the jkq does not reach the wall of the dkeq, and the space is
three migth wide (of air), going along the length of the dkqe, the
dkeq is leqt. If the space is in the middle of the dkeq, it is leqt if
it is four migth. If it is not air but jkq leqt, if it is in the middle
of the dkeq, the dkeq is leqt if the jkq leqt is four migth (unless
it is a small dkeq [any dkeq less than 10x10 migth], in which
case, in which case, leqt jkq of even three migth is leqt). If the
jkq leqt is next to the wall, then we say dnewr otec, and the
jkq leqt may be up to four zen` (but it is xeq` to eat or sleep
under the jkq leqt). If in a person’s home there is a retractable
sunroof that is 7x7 migth, and the sunroof is within four zen` of
the wall, if jkq is placed over the opening, it is a dkeq xyk.

A person may not eat or sleep under an area that has no jkq
(even if the area is less than three or four migth and does not
lqt the dkeq).

With regards to sleeping under jkq leqt that is less than four
migth, it is a zwelgn, and the dxexa dpyn writes that one should
be xingn (the yi` oefg is xizn).

If there is leqt jkq less than four migth, and an open space of
air less than three migth next to it, they do not join, and the dkeq
is still xyk.


